ΠΟΛΛΑΠΛΑΣΙΑΣΜΟΙ
ΟΝΟΜΑ:
Κάνω τους παρακάτω πολλαπλασιασμούς όπως στο παράδειγμα:

 19Χ6= (10+9) X 6=( 10Χ6) +(9Χ6)= 60 +54 =114   
 27Χ8= (    +   ) Χ    =(    Χ   ) + (   Χ   ) =      +     =
 36Χ5= (   +   ) Χ     = (   Χ   ) + (   Χ   ) =     +      =
 76Χ7= (   +   ) Χ     = (   Χ   ) + (   Χ   ) =    +      =
 42Χ9= (   +   ) Χ   = (   Χ   ) + (   Χ   ) =      +      =
 57Χ5= (   +   ) Χ    = (   Χ   ) + (    Χ   ) =    +     =
 253X6=(200+50+3)X6=(200X6)+(50X6)+(3X6)=1.200+300+18=1.518
245X5= (     +     +   ) Χ   = (     Χ   ) + (    Χ    ) + (    Χ   ) =      +      +      =
327X4= (     +     +    ) Χ   = (      Χ   ) + (    Χ    ) + (    Χ    )=      +     +      =
419X6= (     +     +    ) Χ    = (     Χ   ) + (    Χ    ) + (     Χ     ) =     +     +     =
362Χ7= (      +     +   ) Χ    = (     Χ    ) + (    Χ    ) + (    Χ    ) =      +     +     =
